
j*f g+= 1

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 lqk'/f df=lj=kmlg{r/ tyf af^f] lgdf{)f sfl^ofrf}/ 500000

2 %nuf* n#' hnljw't cfof]hgf lqk'/fsf]^ 400000

3 ejfgL cf=lj= uNnL #]/fjf/ uNnL 200000

4

n]vgfy cf=lj= klg{r/ lgdf{)f tyf #]/fjf/ 

dd{t s/]nLsf*f
200000

5

dxfsjL b]jsf]^f cf=lj= klg{r/ lgdf{)f / em\ofn 

(f]sf dd{t /NnL 
200000

6 lxdHof]tL cf=lj= #]/fjf/ lgdf{)f ;fsL{^f]n 500000

7 j*f sfof{nosf] hUuf lkmN* lgdf{)f vftL 200000

8 lqk'/fsf]^ :jf:Yo rf}sL em\ofn (f]sf lgdf{)f hfl;d 150000

9 afnf lqk'/f;'Gb/L dlGb/sf] nflu afhfufhf vl/b lqk'/fsf]^ 100000

10 vf}nfb]lv ljw't s'nf ;Dd #f]=af= lgdf{)f lqk'/fsf]^ 300000

11 tfd]#f^b]lv #§;Ddsf] l;rfO kfOk$f/f lgdf{)f s&fot^f]n 300000

12

('é];fp b]lv tNnf] wf/f;Dd l;rfOs'nf] dd{t 

tyf t*aGwg lqk'/fsf]^ 400000

13

kmnkm'n v]tLsf nflu kfOk vl/b / l/hj{ 

^\of°L lgdf{)f uNnL 475000

14

s/]nLsf*f b]lvem"/sf x'b} ;ftbf];f ;Dd #f]=af= 

lgdf{)f s/]nLsf*f 600000

15

sd]/L df^fb]lv ufp x'b} xkfévf]nL ;Dd 

t*aGwg lgdf{)f 600000

hDdf 5125000 1000000 nfkf

j*f g+=2 

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 aneb| lg=df=lj= ejg dd{t tyf lgdf{)f dfemufp /l; 1500000

2 dxfsfn cf=lj= ejg dd{t tyf lgdf{)f u'Djf ufp /l; 1000000

3 eo/yfg dlGb/ lgdf{)f /l; 400000

4 lqk'/fsf]^ df=lj= vfg]kfgL of]hgf d$' 500000

5

db\b' vfg]kfgL of]hgfdf Jojl:yt wf/f lgdf{)f 

tyf (n lgsf;sf nflu cfjZos ;fdfg vl/b 

tyf lgdf{)f db\b'

950000

6

cfn' tyf n;'g v]tL lgdf{)fsf nflu #]/fjf/-

bfub'n l;nb]lv b]pn ;Dd_ ?d
1500000

7 /l; u'Djfb]lv jon*f+*f vfg]kfgL of]hgf ?d 900000

8 Hof]tL cf=lj= O{=;L=*L= ejg lgdf{)f ?d 500000

9 ;:yfut ljsf; ;]jf k|jfx tyf ;'zf;g 50000

hDdf 7300000

j*f g+= 3

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 ;'FkfgL b]lv ;' / lhp df]^/ af^f] lj:tf/ ;' / lhp 1000000

2 e]*Lsfg b]lv ;' vfg]kfgL lgdf{)f ;' 1000000

3 dxfb]j cfwf/e"t ljBfno #]/fjf/ lgdf{)f lhp 1000000

4 a*fvf]nf dfOqmf] xfO* «f]kfj/sf] Doflrª km)* lhp 1100000

5 lhp o'jf v]nd}bfg lgdf{)f qmdfut lhp 362500

6 ;" o'jf v]nd}bfg lgdf{)f qmdfut ;' 362500

7 ;" dxfb]j dlGb/ lgdf{)f ;' 162500

cf=j 2075.076 sf] j*f :t/af^ %gf]^ eO cfPsf] of]hgfx?sf] ljj/)f



8 lhp b]ptL dlGb/ lgdf{)f lhp 162500

hDdf 5150000

j*f g+= 4

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 nf]^Lh*f b]lv &f^L ;Dd df]^/ af^f] lgdf{)f /+u 425000 3575000 cf/=l;=cfO=*Jn'

2 k|sfz lg=df=lj= #]/fjf/ /+u 385000

3 k|sfz lg=df=lj= ;/:jtL dlGb/ lgdf{)f /+u 300000

hDdf 1110000

j*f g+= 5

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 vbfé b]lv Nxf ;Dd u|fld)f ;*s lgdf{)f १४०००००

2 kmf]S;')*f] cf=lj= ejg lgdf{)f vbfé 500000

3 dxfb]j b]jtfsf] dlGb/ lgdf[)f 50000

4 ;"o{$o o'jfSnj v]ns'b ;fdfu|L vl/b 50000

5 j*f sfof{no Joj:yfkgsf  100000

hDdf 2100000 २२००००० लापा

j*f g+= 6

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 wf]/fvf]nf b]lv km'lNr* ufp;Dd df]^/ jf^f] j*f g+ 6 1000000

2 jNb]x'b} j'/fcf? vfg]kfgL j*f g+ 6 600000

3 v]ns'b ;fdfg vl/b j*f g+ 6 100000

hDdf 1700000 १८००००० लापा

j*f g+= 7

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 /fjnjf*f af(L klx/f] lgoGq)f /fjnjf*f 0 5000000 nfkf

2 %nufp b]lv l&u]gL wf/f ;Dd #f]/]^f] af^f] %n 700000

3 vfkf :ofp v]tL l;rfO lgdf{)f e'ltu+| 700000

4 ;fOnfjf*f t*aGwg qmdfut ;fOnfjf*f 400000

5 vqLjf*f vfg]kfgL dd{t vqLjf*f 150000

6 ef]/ufp vfg]kfgL lgsf; ef]/ufp 700000

7 :jf:Yo rf}sL d}bfg lgdf{)f e'ltu+| 100000

8 s:t'/L lg=df=lj= v]nd}bfg dd{t e'ltu+| 150000

9 cf}tf/L cf=lj=sf]&f l;lnª lgdf{0f ;fOnfjf*f 50000

10 eujtL cf=lj= kvf{n dd{t %n 100000

11 vfnL%x/f n#' hnljw't dd{t kfxf*f 400000

12 %n b]lv j*f ejg;Dd jf^f] dd{t 150000

hDdf 3600000

j*f g+= 8

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 vfnL%x/f n#' hnljw't dd{t kfxf*f 400000

2 vfnLjg vfg]kfgL dd{t tyf lgdf{)f vfnLjg 600000

3 df]lt/fd cf=lj= #]/fjf/ vfnLjg 75000

4 hgs cf=lj= 3 sf]&] ejg bflugf 1080000

5 cf/]vf]nf b]lv envf]nf l;rfO /fjtjf*f 600000

6 b]p/fnL cf=lj= b]lv ufp;Dd ('Ëf la%fpg] z]/ufp 400000

7 b]p/fnL cf=lj= kn+lsª z]/ufp 100000

8 snf;f b]lv kfNt]vf]nf l;rfO tNnf] blnt ^f]n 700000

9 (fn b]lv uf]? AffGgf ;Dd #f]/]^f] af^f] dflyNnf] blnt ^f]n 300000

10 wf}nflu/L cf=lj= kmlg{r/ /fjtjf*f 50000

11 kxf*f :jf:Yo rf}sL dd{t e'ltu+| 75000

hDdf 4380000

j*f g+= 9



qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 dxfb]j dlGb/ lgdf{)f tyf #]/fjf/ r' 1000000

2 ufjf] vf]nfb]lv w'dvf]nf ('ª\uf la%fpg] r' 600000

3 ;'ssf]]^L dlGb/ lgdf{)f r' 300000

4 s'l^nf b]lv dfly vf]nbL #f]=jf= lgdf{)f r' 300000

5 kf/L vf]k' l;rfO cfof]hgf r' 300000

6 hglk|o cf=lj= 4 sf]&] ejg dd{t r' 700000

7 Wofªaf/L t*aGwg lgdf{)f r' 150000

8 lns' :jf:Yo rf}sL kmlg{r/ lgdf{)f lns' 200000

9 vfnL %x/f ljw't d'xfg dd{t kfxf*f 500000

hDdf 4050000

j*f g+= 10

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1

sfl~h?jf cf=lj=df 2 sf]&] ejg tyf zf}rfno 

lgdf{)f bfk' 1400000

2 /fi «̂klt /lgªl;n elnjn d}bfg lgdf{)f lns' 200000

3 vfnL %x/f ljw't dd{t tyf ;fdfg vl/b lns' 400000

4

j*f sfof{no ejg dd{t, kvf{n / vfg]kfgL 

lgdf{)f lns' 840000

5 sfkmf}/ b]lv bfk' x'b} lns' ;Dd vfg]kfgL lgdf{)f bfk' lns' 800000

hDdf 3640000

j*f g+= 11

qm=;= of]hgfsf] gfd &]ufgf ah]^ /sd cGo jh]^ s}lkmot 

1 cd/l;+x cf=lj= tf/hfnL #]/fjf/ dd{t d'x' 1100000

2 s~hGh+#f cf=lj=tf/hfnL tf/hfnL #]/fjf/ dd{t x'd 1100000

3 /fdzfx cf=lj= tf/hfnL #]/fjf/ dd{t aGt*L 1100000

4 j*f sfof{no tyf ljljw aQL vfg]kfgL lgdf{)f d'x' 500000

5 n#' sfi& pBf]u ejg lgdf{)f d'x' 460000

6 d]ntn b]lv anfu|;Dd df]^/ af^f] 600000

hDdf 4860000

43015000कुल जम्मा


